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Logistics

e Midterm 1, a week from today

— Handwritten notes allowed
— No book, nothing printed, nothing electronic
— Be on time!

e 2 modules due Thursday affer exam

— First is mainly definitions - may want fo do it this week
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Cantor-Bernstein-Schroder Theorem

e If A and B are sets with |A| < |B| and |B| < |A],
then |A| = |B|.
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3.

Use C-B-S to prove that |[0,1)| = |(0,1)| (3 minutes)
Sponge: create a bijection (and prove it’s a bijection)
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A Bijection That Works

1/2 ifx=0 (case 1)
flr)=< x/(1+x) ifdn € N[z = 1/n](case 2)
T otherwise (case 3)
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